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FIPME A WERATAE RO X, BTG Y1 (Xo) = Y2 (Xo) - 2 Yo (X) = Y1 (X) = Y, (X), Wy (X)
S %I RERIAR, T B VMBS Yo (Xo) = 0. T2 s sr 7 R i A7 £rnf — 1 o B

Yo (X) THAET2Z, i AEH Yy, (X) =Y, (X), Sl
B 9.33 e 2xdy — ydx = 2y°dy .
CAR 11 X X TR -
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JF = —y%+2x =2y’ = i(%} __2 y=Ce 2.
dy dy\y y
1 1
Ui 21 msfine g Y-ty Ly
dx 2x X
22 2
Ui 3] Bkt = xdy® — y?dx = 2y*dy = xdy y4y ax _ 23;4dy'

s Oy 1dy* _ ¥
[ff 4 BRGFROE @« = —= — =
firt RGO+ T = ix 2% y? = 2 X 2xy?

5 U
U:yz d_u: 2U , :>d_u: ; .
dx 2x-u dx ,_Uu
X
Bl 9.34 SRiiZ s, iz gk AL R R AR A5 TR A% A S I 2 IR TR 2 K
LIE NS F Q) Ry 2) 1) k.

L] sk Y—y:—éﬂX—m,EﬂWKWGC,(XN)eN

LY =0, X =x+yy . TREEZES J(yy)f+y? =|yWi+(y) -

n

By u>ﬁT&:( y

1
1+ (] [y ()

(2) fiy Ly y

o
L+ (RS [yWas(yy

4

\ , y” 1 , pdp _dy
{m] 1 b IJ;LI: == A — , =7
TR (1) R TGF & ply)=y L F
ZIn(L+p?)=In(cy) LY
(cyf -1

s (x+¢,) +y?=c?.

+(y) oy
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1
Bl 9.35 KA1 Y"+2x(y)* =05%2 y(0) =1, y'(0) = - BfR,
1

(4] BFFES y DARNXL. Sy =u, FHEEN U+20° =0, ==1*+C,,
1
Bu(0) =y'(0) =5 JREC, =-2; BRHE
1 nX=V2]
= . fEEly=
Yo BT 2[ vz
V2 —x
BYy@0)=1C,=1, FT2E3HE y=1+ In
y(0) = et y 2\/5 (\/E+X
Bl 9.36 Gy —ax, aeR AL
L) Mgy =ax®, aeR, WEM R v =3ax?, L=ax y’=37y.

A IMA Y Y = —%, HifEh x* +3y° =C .

Bl 9.37 JitkE oy m ARG A B AT, BN, SRR Y, M
ITERRY S JR & T3 N o B A EHATRLD £ s s, ) g i~ 7 GE

e, HepIREChC. Wk f =

d?s ds )’
dZ‘_f_CE cv?
(f=—-—"2"+—)

ds 2*050
s(0)=0,—| =V, em +1
dt

t=0

B 9.38 ks f(X) 7 [0,+00) FaZLk, #ifizky = f(X), HZ&x=Lx=t (t>1) 45X
S FEL PO P T 58 X e 1 PRl V(t)_”[t fO)-f@] ky=fem
SR TR, IR R IR y (2 )=§E‘Jﬁ$.

€ V(t)=%[t2f(t)—f(1)]=j:;zf?(x)dx, kG, 3F2(t) = 2tF () + 12 F(t)

y = f (X)W ey irfth X2y =3y —2xy, M hFRITEE, fEh:

y—x=cx’y; Elay(2)=g, Malc=-1, ith: y-x=-x°y.

9

W BAR 4 KRR WL6l: www.tsinghuatutor.com  FEi% 62796032




2007 ZKAR a2 Wk T SR T EERTTAMINY K E 1006 Hii%: 62701055

Bl 9.39 Mgty = y(X) it B IS — IR, g BT P(X, y)IEZ L )
2h Ky HITES, X PG Y MRS T T AURIQ AL W A PQT MRS
£l 0K i) [0, X b B s = BTN . KL ik i 7.

LY Bzl y = y(x), WML Y -y =y (x)(X —x)

e i P(X,y), Q(0,y)5 T(0,y—xy'(x)).

2

1 2.\, _ X <k X_ " r_ —
EX y(x)_Ly(t)dt, K, 5 y'+xy'—y=0

y=CX+C,x?,  y(0)=0, #ry=cx.
B 9.40 f(x)7E(0,400) W, £/ (1)=2, H VX, y>0, f(xy)=xf(y)+ yf(x)por, sk
F(x).

(] H26 f(1)=1f@Q)+1f@Q)=2f(1), f(@)=0-

f x(@ yj_f
) = lim LBV 100 [xae+ D] 100

y—0 y y—0 y
xf(1+yj+(1+yjf(x)—f(x) f(1+yj
. X X . X 1
=1lim =lim + = f(x)
y—0 y y—=0 X X
X
:f’(1)+£f(x):2+1f(x)
X X
f'(x)—lf(x)—z
KA ) &5 X T AE
f()=0

f(x):x(j%dx+¢):2x|nx+0x, il f@)=0

R C =0, f(x)=2xInx.
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